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C| 3
Part3| No.1 7 No.2 No.3 7 £3% (2) didn't (3) focus &28
Part4 | No.1 summer No.2 fishing B4 M4 | & playing “N game(s) 3% (M)
1| A @ B2 4 How long does it take by .
m2 | climbing @ take/ have/ enjoy #25 taxi o
(1) :
) I'm going to see(watch) a movie. 1
4% 34
i3
You should take a train  because -
@ | enjoyed the sports festival the most. i
455 you can go there faster than
(2) 128
a taxi )
1588
ML @ 1 @ 1 &34 3R
A 2 | will buy some snacks and soft drinks for her because we can eat and Go straight this street and turn -
drink them together. a5 left at the second corner and
1 A M2 #38 (al go straight . You can see the
3 55
B station on your right -
3 She wanted her to wrap the presents. -
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